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I PR 9N RnDwn wwh wasR — I will suppress the
mortgage contract and I will consume produce for the amount
of the monies owed to me.

Overview

¥"27 maintained that he would be believed against the 210> without a
7v2w. He argued that he would have suppressed the xniown “vw and could
claim therefore that he bought the field from their father. m»0in will discuss
why it is necessary to suppress the ¥n15wn "vw? He could have claimed that
he bought the field any time afterwards'. Why should the Xn1own qvw be in
conflict with his subsequent claim of >7°2 > 7mpPH?!

Nnown wwh wasT awn X7 — It is only because he suppressed the
mortgage contract, that "1 -

ST92 RO PR oY vxn — was able to claim (in his w»): ‘T bought it” —
YI7° 5197 897 - for it was not known —

7979 RNX Rn1sw» nnaT — that he occupied the field on the basis of the

mortgage payments®. Therefore, if he had claimed that he bought it and lived there for
three years he would have been believed, since there were 0°7¥ that he lived there for a
number of years (however they did not know that he was there Xn1>wn nmn2). However -

w7 9177’87 — for if it were known —

7o79% RDR RDIDWwHn NN KPSyt — that initially he occupied the field
NDIDW» n9IN3, then —

MWW 2 K27 W 797 X2 — w'"'27 would not have argued that he has a wn —
792 RI7 ImpD Y 910w — for he could have said: ‘I bought it’. Even if
there would not have been a rumor that it is >»n°>7 XV1X, nevertheless ©'"27 would not have
a wn of »72 X°77 7MpPY, if it was known that he originally occupied the field Xniown nna.
The reason is —

oK) IR 779777 9792 — for it is similar to a craftsman’ or sharecropper -
ISR 7w P W PRT — that the sharecropper has no 7ptm in the field
that he sharecrops —

NPIYnT 11797 11920 — since it is known that initially the field —

' See footnote # 7.

% In this case there was a 2P that it belonged to the o°min°. Nevertheless, a 2 could not counter the claim of
*72 X7 MIPY; it would require o7y,

? A craftsman would be a launderer or a tailor 2", If they claimed concerning a garment in their
possession that they purchased it from the X»p 777n, they would not be believed. We believe the Xnp 7771
who claims that he gave it to them for cleaning or mending.
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79799 AR RNBR N2 — is in his possession as a sharecropper®. If a
sharecropper were to claim concerning a field, which he sharecropped for a period of
time, that he purchased it from the owner, and owns it for more than three years, he
would not be believed. The fact the he has a 7P is meaningless. An 0> X cannot retain
his mo»X field, as his own, based (only) on the .‘lpm.s The owner can claim that the 09X
is in the field as a shaurecropper.6 A npin is valid only if the p°11n initially had no right to
be in possession of the property (except as a purchaser). Similarly here, if it is known that
he originally occupied the field Xn1>wn n7n2, he cannot subsequently claim I bought it
from the owner and have a 7p11. The owner originally permitted him to be in the field for
his mortgage payments. The laws of 7P do not apply to people who originally had a
right to be in the property.’

mooIn brings additional examples that there is no 7P, if there is a reasonable cause why
the p1mIn possess it:

2WOWARY PIRWY PUYT 29272 391 — and the same rule applies concerning

objects that it is customary to either lend them or rent them out. If the
person in possession claims that he bought the object from the ¥»p 771 and the Xnp 777
claims that he merely lent it or rented it to him, the 711 is meaningless and we return it to
the Xnp 77n.

Moo adds one final case where there is no 7pim:

(J507°) RIPOYRT [81:*;:7’7] 19131 — and a thief, who we know that initially —
1 777w 917 — that he stole this field, and later he claims that he bought it and lived
there for three years, the 17 is —

7Pt 2N W9 PRT — that the 1913 has no 11 whatsoever.

tis only by an 0™ [and by a 1773 (see later in NMoDIN)] that it is necessary (to state) that we knew that he is
in the field n19>3% nN2 [or 2132], however by an 11X [or by 1°OWwi?1 2°Rwa> oWy 027 (see later in
mooIn)], even without knowing how it came into their possession we assume that it was given for NM2IX or
MW 98w n7In2 and there is no pT.

> The 0™ will retain the field if he presents a 77791 0w,

® See the mwn and the X3 from R,2n 77 onwards. See PO R 7"T R,2n 2"awA.

7 It would appear from this Mmoo that in the case of w"27, the term of the Xn1own ended (at least) three
years prior to the father’s death. w"27 continued to consume the produce of the land for the succeeding
three years to (partially) collect the additional debt. Otherwise, if the term of the Xn1>wn did not end until
less than three years before the demise of the father, then n201n assertion is not understood. Obviously
"2 had to suppress the Xn1dwn 0w, otherwise it would be clearly stated in the &n1>wn 7vw that w'"27 was
occupying the field Xn12wn N3, and could not claim 71°2 &7 7MpP? during the period of the Xn1dwn. If he
claimed that he bought it after the Xn1own, there is no 21w A nptn. However if the Xn15wn concluded three
years prior to the death of the father, we may have thought that w"27 could claim *7°2 X>1 7mpP? after the
Xn10wn, and he has three 7P years (after the Xn1dwn) to verify his claim. NMd0IN teaches us (that we derive
from 0°7X), that since he originally entered the field Mw"2 on account of the Xn15wn, he no longer can claim
the field on the basis of 7117 alone, if he were not w213 the Xn1dwn 0w. See 7" MK 7"210. See ‘Thinking it
over’ # 1.

¥ See n"an M.
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Summary
There can be no 7P if the item in question came into the possession of the

P with the consent of the Xnp 77n.

Thinking it over

1. If we assume the explanation that the Xn13wn 70w ended in the lifetime of
the father’, why did not w"a1 present his claim in 7"3, against the father,
during his lifetime? He would not be 2111 a 712w then!

2. Why does mpoin find it necessary to bring all these examples from an
2O PRWAR WY 0°727 ,0°K L1 and a 1713?

3. Seemingly the case of Xnidwn is different from the examples mooin
brings. By a Xn1own it should be a 7P (even if it 1s known that he was there
Xn1dWn nN2), if w"27 lived there for three years after the Xn1down was paid
up. The owner should have made a nXn» after the conclusion of the Xnidwn.
In the other cases, however, there is seemingly no such argument'’.

? See footnote # 7.

19 By an 2w 9Xwib Pwya 09127 10K, there is no possibility of xm»; in fact he is making it now. By an
0"IX, the owner can argue that he did not make a 7%r» since he assumes that the 07X is continuing with his
(ow X°30m2 y) Mo IR, As far as a 1913 is concerned, the owner did not make a 7xm», for he fears the 771,
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